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Make this Roman Numeral
& 2 equation true by moving just

& (*;;f AT A7 m(ﬁj? 7, s
A P I g g i

%
%

v
&
\
¥
R
v
&
\
¥
~N
\
0
R
v
&
\
¥
R
v
R
~N
\
0
R
v
&
\
O
v
R
~N
\
0
R
v
&
\
¥
R
v
R
&
\
&)
R
Y
&
\
©
Y

X
AR

ey

) 8

=.
)
i
3
o
-—g
wn
1
o
O
A
O
1
wn

TVE TV
PAY

\@}\
&)

CRACKER PROBLEM

A
AR
6]

~N
£ JutT e

D

one cracker.

EA S AYE

PRESENT PROBLEM

The five presents in today’s cracker have
a modal weight of 2 kilograms, a median CRACKER JOKE
weight of 4 kilograms and a mean
weight of 6 kilograms. The range of the
weights is 10 kilograms. Find the weight
of each present.
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What does Santa like
to do in his garden?
Hoe Hoe Hoe
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